PARTS INCLUDED

ALL Z28452XX MODELS

) Front Crossbar w/ LED Bracket
) Side Tubing Assembly (Left)

) Side Tubing Assembly (Right)

) Front Left Mounting Assembly

) Front Right Mounting Assembly
) Rear Tubing Assembly

) Rear Clamping Bracket (Left)

) Rear Clamping Bracket (Right)
2) Mid Crossbar

1) Rear Crossbar

(1
(1
(1
(1
(1
(1
(1
(1
(
(

HARDWARE INCLUDED

2845201

(6) M6 x 1.0 MM x 16 MM Screw (Black Oxide)

(6) M8 x 1.25 MM x 30 MM Screw (Black Oxide)

(16) M8 x 1.25 MM x 20 MM Screw (Black Oxide)

(8) M8 x 1.25 MM Flange Nut

(22) Split Lock Washer for M8 Screw Size (Black Oxide)
(8) M6 Washer

M6 x 1.0 MM x 20 MM Screw (Black Oxide)

)

)

) M8 Hex Nut (Stainless Steel)
) M8 x 20 MM Hex Head Cap Screw
) 3/8 "x 7.8" Metal Washer
) M8 Split Lock Washer

) 1/32" Rubber Padding

) 1/8" Rubber Padding

(3) 1/8" x 2" x 39" Rubber Padding
(10) Zip Ties

2325211
Same as 2845201 but includes
(8) 3" LED Pod Lights (6 White, 2 Amber) + Wiring

2845221

Same as 2845201 but includes

(8) 3" LED Pod Lights (6 White, 2 Amber) + Wiring
(1)30" Light Bar + Wiring + Brackets

(2)1/4" - 20 Nylon Lock Nut
(2) 1/4" x 5/8" Flat \Washer

CARGO RACK

INSTALLATION GUIDE

START HERE

PLEASE READ AND UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLATION.
Auto makers offer varied models to each vehicle and occasionally manufacture more
than one body style of the same model.

* APPLICATION MODELS VARY. WE RECOMMEND TO VERIFY FITMENT BEFORE BEGINING INSTALLATION PROCESS.
* IMAGES FEATURED IN THE INSTRUCTION DOCUMENTS MAY NOT ALWAYS EXACTLY MATCH YOUR MODEL OR PART.

STEP 1

NOTE BEFORE YOU START INSTALLATION

Not included but required

e Blue Threadlocker

e Hand tools set

e (2) 60 in. x 2 in. x 4 in. Spacers or similar to
install accessories on rack prior to attachment
to the vehicle.

e 2 Door Models have only (1) rear crossbar,
Images show (4) door model

1) Remove the windshield caps to expose the roof rack

mounting points by depressing the tab on the back side
of the cover located closest to the roof panels.

STEP 2

2) As shown to the left, install the provided (4) pieces of
1/8" Rubber Padding onto the bottom of each base.



https://www.carid.com/zroadz/

3) As shown above, install the (2) pieces of 1/32" Rubber Padding between
the bend of the (2) Clamping Brackets.

STEPS

5) Rear crossbars should be installed as shown above along
with the male rear round center cross bar. NOTE: If 2 Door
model only (1) rear crossbar.

STEP4

4) Assemble the male rear round center cross bar and side tube
assemblies. Using (8) split lock washers and (8) M8 x 1.25 MM x 20 MM
screws attach the rear crossbar to the rear bases.

STEP 6

6) As shown above, place the mid crossbars onto the bar brackets.
Align them to the slots for your desired configuration.



STEP8

8) Insert the front mounting assembly into the side tube assembly. Notice
that each assembly corresponds to a particular side that is distinguished
through the holes found only on one of its sides. Once identified, match
these holes with the front crossbar flange and install the crossbar using (1)
M6 x 1.0 MM x 20 MM screw, (1) M6 lock nut and (2) M6 washers for each
flange hole (4x). Do not tighten completely at this time.

STEP9 STEP 10

7) Install each mid crossbar using (4) split lock washers and (4) M8 x 1.25
MM x 20 MM screws (2x). Do not tighten completely at this time.

9) Secure each front mounting assembly to its side tube assembly 10) Apply (2) pieces of 39" rubber padding onto each mid crossbar.
using (1) split lock washer and (1) M8 x 1.25 MM x 30 MM screw as
shown above. Do not tighten completely at this time.




STEP 12

11) Apply (1) piece of the 39" rubber padding onto the rear crossbar. 12) If purchased, install the (8) ZROADZ LED pod lights and the 30" light
bar. Tighten the mid crossbar bolts from STEP 7.

STEP 13 STEP 14

14) Position the rack so that its front mounting bracket assemblies are

13) With some help, lift the rack onto the roof of the truck. Any

accessories should be attached to the rack at this step. Use (2) 2 x directly above the factory roof rack mounting points. The front cross
4 wood boards or similar to position the rack on the roof and install bar fasteners from STEP 8 and STEP 9 should be loose.
accessories.




NSTALLATION - CONTINUED

STEP 15 STEP 16

15) Ensure that the rear bases are aligned o sit on the lower part of the 16) Once the rack has been aligned and accessories installed, lower the
roof. front brackets over the front factory mounting studs. The holes found on

the bottom of the ZROADZ front brackets install over the factory
accessory mounting studs as shown above. Use the factory nuts to
secure the brackets.

STEP 17 STEP 18

17) Install the (2) clamping brackets using (2) split lock washers and (2)

M8 x 1.25 MM x 30 MM screws for each clamp base and bracket. Notice 18) With the rack aligned, tighten the front crossbar and tube bolt from
that the (2) clamping brackets appear similar but are not the same. Their STEP 8 and STEP 9.

corresponding side will be marked by a sticker identifying its correct side.

(Use blue threadlocker) on all clamp fasteners.




19) Using (3) M6 x 1.0 MM x 16 MM screws for each side, secure the
cover onto each front mounting assembly (Use bluethreadlocker). Its
corresponding side will be marked by a sticker identifying its correct
side. Do not overtighten.




MOUNTING YOUR LIGHTS
1. Choose a location on your vehicle to mount your light(s). Install the light(s) and loosely tighten.
You will secure them later when aiming.

WIRING YOUR LIGHTS

1. Remove the fuse from the harness. Find a suitable
location inside the passenger compartment for your
switch. Mark and drill a single hole with 49/64" Drill
Bit. You may use the featured Diagram Template to
mock up, position, and measure. Next carefully file 3
notches as shown.

2. Connect the harness to the light(s) and route the
harness back towards the battery. Attach the RED
wire to the positive side of the battery or power
source. Attach the BLACK wire to the negative side
of the battery or chassis ground.

3. Continue routing the switch side of the harness into

the vehicle. Once the wires are inside the vehicle
install the switch to the hole drilled during Step 1.

4. Before replacing the fuse, ensure the switch is in
the off position (see below). Replace the fuse and
turn on your lights.

AIMING YOUR LIGHTS
Fog Lights - The vertical aiming of fog lights is very important. Because of the low mounting position relative to the ground (12
to 30 inches), they should be aimed parallel to the ground or lower. Fog lights should be aimed so the cutoff is on or below
your horizontal low beam for best results. The side to side adjustments are up to you. A large center overlap will increase
center light and decrease overall width. A slight center overlap will increase your side lighting and give even coverage overall.

Driving Lights - Driving lights are used to supplement your high beams. They should only be used in conjunction with high beam
headlights. The horizontal centers of the beams may be aimed at the same level as your high beam.

The width is up to you as you may prefer to light the sides of the road at a distance rather than

concentrating the majority of the light down the middle.

Off Road Lights - Since lights such as these are not legal on any public road or highway, aiming
your off road or competition lights is entirely up to you. Most prefer the beam as far down the
road as possible, others adjust them slightly off to the sides.

After aiming the lights to your preference, tighten all hardware.



USE OF THIS PRODUCT

Use of this product is limited to the application outlined in
these instructions and is not intended to be installed on
vehicles to which the product was not designed.

Make sure all fasteners are torqued to the specification
outlined in the instructions. Check all fasteners
periodically and inspect structural elements for excessive
wear or corrosion.

ZROADZ, Inc is not liable for the performance of
accessories mounted to the rack.

The rack is designed to load a maximum of 195Ibs
distributed evenly across the top of the rack during slow
crawl off-road use, 240Ibs of on-road driving and 570Ibs
static load while the vehicle is stationary. Accessories
mounted to other portions of the rack must be included
in this calculation.

These capacities are for the rack only and are limited to
the capacity of the vehicle itself.

This rack is not designed to carry any load during high
speed, off-road driving. Use of this rack in this manner
will void the product warranty and can cause damage to
the vehicle.

Check your local and state laws regarding truck racks
that can extend loads and devices outside the
boundaries of the vehicle.

Learn more about roof racks on our website.


https://www.carid.com/roof-racks.html

	Z845401_Instructions_R2.pdf
	Instructions_Rack_Warranty.pdf
	JR INSTRUCTION WARRNTY




